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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Each question carries equal marks.

1 Clarify the meaning of industrial sociology and discuss
its 1mportance.
OR
1 Clarify the meaning of industrial sociology and discuss
its subject matter.

2 Discuss the method of recruitment of workers in industries.

OR
2 Evaluate the Hawthorn experiment from the view point
of an industrial sociology.

3  Clarify the meaning of industrial bureaucracy. Give its
characteristics.
OR

3 Clarify the meaning of trade union. Give its functions.

4 Clarify the meaning of industrial sociology and discuss
its nature.
OR
4 Discuss line and staff organization in industrial

Bureaucracy.

5 Write short notes : (any two)
(1) Workers absenteeism and turnover
(2) Questions of labour's establishment
(3) Problems of labour union
(4) Importance of trade unions.
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